= o
A & 0l & AF 2 E A A
20198 &= ES0la LB A JIEISESH A=
EM: A
M FHESEMNA & NGHe
Sl ENMBEANA CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
A= 79,410,516 60,723,231 18,687,285
= 59,390,260
s 7,860,000
= 12,160,256
FHEZME ¥ XN 1,088,200 781,700 306,500
FHMEHMNA 1,088,200 781,700 306,500
OtSCH22tE D3 0| 58,750 58,750 0
403 MtXISHE X201 E 58,750 58,750 0
01 XM A2 58,750 58,750 0
OOtSCH22tE It D] 58,750
JEA=S=2sM XA 40,000 8,000 32,000
307 21201 A 40,000 8,000 32,000
02 It S AHEE L 40,000 8,000 32,000
OZ&RFAHEE A& ZJAAS25HH M 40,000
orsti=22s 224 20,000 8,000 12,000
307 gl2tol & 20,000 8,000 12,000
02 IZtE M AHE X 20,000 8,000 12,000
ootsti22te 323 20,000
FHMEEE A 43,850 43,850 0
201 L2l 22,850 22,850 0
01 At 22l 22,850 22,850 0
OxH=ERAs 29 22,850
202 44l 21,000 21,000 0
01 = LH A HI 21,000 21,000 0
OAEYR FT 7,700
CEEEEERE SRS 5,300
oFue =3 8,000
J2CIXel ArY =& 925,600 125,600 800,000
201 Let249] 20,600 20,600 0
01 At 22l 20,600 20,600 0
Of/3AL 39 gz 1,500
cZdZRAd 24 15,000
o=2z2ns 2229 =& 4,100
202 O4dl 5,000 5,000 0
01 = LH 4 1 5,000 5,000 0
OZ&CIXte HR=2 3,000
2QZdnsE N=&Z 2,000
403 MHXSHHSA=0l& 900,000 100,000 800,000




2N

A=1
M FHESEMNA & NGHe
SRl FHMBBYINA CERED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 HXSHMA2E X 900,000 100,000 800,000
od&LIxe 22 600,000
OA22w OF2tE 2 JH& 300,000
SHE MBI &= 7,860,000 10,887,000 A 3,027,000
s 7,860,000
=& dzE3d 24 7,860,000 10,887,000 A 3,027,000
s 7,860,000
J=MgolmeH(ZN-sAFR) 7,625,000 9,031,000 A 1,406,000
s 7,625,000
403 A X EHHS =0l A 7,625,000 9,031,000 A 1,406,000
s 7,625,000
01 X SHHX2E= 7,625,000 9,031,000 A 1,406,000
OLEISLUHEXNY sEMESZFHI 7,520,000
as 7,520,000
O=Z8I&FHl 105,000
s 105,000
OS2 A0S (2 D-5482) 235,000 1,856,000 A 1,621,000
s 235,000
403 MHXISHE X201 E 235,000 1,856,000 A 1,621,000
s 235,000
01 X SHHN2E = 235,000 1,856,000 A 1,621,000
OLEtSUUHEXNY HAAOISEH 235,000
s 235,000
FEHANEAFH LTINS L 65,859,790 45,614,097 20,245,693
= 59,390,260
< 6,469,530
FEFHMIA 63,110,790 43,839,097 19,271,693
= 56,641,260
< 6,469,530
FAS0(=21) 62,820,790 43,626,677 19,194,113
= 56,641,260
< 6,179,530
202 odl 5,000 5,000 0
01 = LH o4 1l 5,000 5,000 0
OFAHNENYRF=A 5,000
308 A EHHSOIA 62,815,790 43,621,677 19,194,113
= 56,641,260
< 6,174,530
01 HIXNHHNBMNEES 62,815,790 43,621,677 19,194,113
FHS 0 At 62,815,790
= 56,641,260
= 6,174,530
ZOHQ NEEME=e AUESs N2 200,000 0 200,000




EM: A
M ZSANOEURN SRS A
Sl FE MK CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
403 UHXSHHSA=0l& 200,000 0 200,000
01 X SHMA2E X 200,000 0 200,000
OZOMQ NPHEFE AUHESS N 200,000
LAY 88X F=H=0H XA 90,000 0 90,000
403 XSS A0l & 90,000 0 90,000
01 XM A=2EE 90,000 0 90,000
OZEAEE =KX FHSAH XA 90,000
FHEZMNE XA 2,749,000 1,775,000 974,000
= 2,749,000
MHBHSAANG XA (1) 2,337,000 1,775,000 562,000
= 2,337,000
403 MHXISHHE X201 E 2,337,000 1,775,000 562,000
= 2,337,000
01 X SHHAN2E= 2,337,000 1,775,000 562,000
OMBHIZXALS XA 2,337,000
= 2,337,000
CESIZAUFE ALMNL(21) 412,000 0 412,000
= 412,000
403 A X EHHSKH=20IA 412,000 0 412,000
= 412,000
01 X EHHMA=ZLE L 412,000 0 412,000
OL=ZZUU=E AIEIMHL 412,000
= 412,000
SMEHAS F=HNA 4,565,000 3,400,000 1,165,000
HEa =5 XA 4,565,000 3,400,000 1,165,000
MESE =HHIE KA 4,565,000 3,400,000 1,165,000
201 £B-2dH| 5,000 0 5,000
01 At 22/l 5,000 0 5,000
oMSggTeY NS s A 3,000
OEE2XZAH NE 2,000
308 MtXIEHSOIH 4,560,000 3,400,000 1,160,000
01 X HHILEXS 4,560,000 3,400,000 1,160,000
odeE®2 =H H&E N 4,560,000
HY2FZH (A=) 37,526 40,434 A 2,908
Jl=&l 37,526 40,434 A 2,908
EM2E Jl=Z 37,526 40,434 A 2,908
201 et 24,326 26,034 A1,708
01 At 22/l 24,326 26,034 21,708
ORA2Y AtR2eltl 24,326




SN AED
M HH2IZH(AS)
¢l =gl (chel & 9l)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
202 Od4dl 9,600 10,800 A 1,200
01 = LHA YI 9,600 10,800 A1,200
FN2E =LY 9,600
203 YR =&l 3,600 3,600 0
04 FN2ELSZTH| 3,600 3,600 0
©202! Ol ot 3,600




